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tq=10[sec] /5[sec|/1[sec], Mr=0.5[Am?], 0 0 0O
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0 5.20: White noise on Geomagnetic Aspect Sensor, 7=2500]sec|, tq=10]sec],

Mr=0.5[Am?), 00 00, white noise 0 000000
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O 5.21: White noise on Geomagnetic Aspect Sensor, 7=2500[sec|, tq=>5][sec],
Mr=0.5[Am?], 00 0 O, white noise 0000000
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O 5.22: White noise on Geomagnetic Aspect Sensor, 7=2500[sec|, tq=1[sec],
Mr=0.5[Am?], 0 0 0 O, white noise 0000000
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O 5.23: White noise on Geomagnetic Aspect Sensor, 7=2500[sec|, tq=1]sec],
Mr=0.5[Am?, 0000000000000, whitenoise 0000000

1%00000000000000000000000005AmY)0000000
00000000005 Am?|00000000000000O00O0O0OOO0OOOO

41



| | | | | | | | |
1000 1010 1020 1030 1040 1050 1060 1070 1080 1090 1100 [sec]

Mry x 10*
T

I I I I I I I I LT

1000 1010 1020 1030 1040 1050 1060 1070 1080 1090 1100 [sec]
4

Mrz x 10

0.4

1
900 920 940 960 980 1000 1020 1040 1060 1080 1100 [sec]4
x 10

0 5.24: White noise on Geomagnetic Aspect Sensor, 7=2500[sec|, tq=1[sec],
Mr:O.5[Am2],DDDDDDDDDDDDD,WhitenoiseDDDDDDD (00O)
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0 5.25: Bias on Geomagnetic Aspect Sensor, 7=2500[sec], tq=10[sec]/5[sec]/1][sec],
Mr=0.5[Am?], 00 0O
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0 5.26: Bias on Geomagnetic Aspect Sensor, 7=2500[sec], tq=10]sec],
Mr=0.5[Am2], 0000
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0 0.5 1 1.5 2 2.5 3 [sec]
euler angle y x 10*
T T

-0.2

0.2

0.1 . a

[rad]

0.1 .
-0.2 1 1 1 1 1

0 0.5 1 1.5 2 2.5 3 [sec]

4

0.2 euler e‘mgle z : x 10

0.1 . a

[rad]

-0.1 n

0.2
0 0.5 1 1.5 2 2.5 3 [sec]

x 10*

0 5.27: Bias on Geomagnetic Aspect Sensor, 7=2500[sec], tq=>b[sec],
Mr=0.5[Am?, 0000
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0 5.28: Bias on Geomagnetic Aspect Sensor, 7=2500]sec],

Mr=0.5[Am?], 000 0O

0 X 10° euler angle x
= 5F 7
el
[
=L
-5 L L I
2.5 2.55 2.6 2.65 2.7 2.75 2.8 2.85 2.9 2.95 3 [sec]
10X 10 euler angle y x 10*
T T T T
5+ : T ]
E<) / \ /
S or 7
) — S i
-10 1 1 1 I I I 1 1 1
2.5 2.55 2.6 2.65 2.7 2.75 2.8 2.85 2.9 2.95 3 [sec]
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2.5 2.55 2.6 2.65 2.7 2.75 2.8 2.85 2.9 2.95 3 [sec]
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0 5.29: Bias on Geomagnetic Aspect Sensor, 7=2500]sec],

Mr=0.5[Am?], 0000 (00)
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0 5.31: wOD0000, 7=2500[sec], tq=1[sec]/5[sec]|/10[sec], Mr=0.5[Am?], O O
ad

Dooboogoboboobobooboboboobol Figb.32 Fig.b.33
Figb340000o0ooooooooooooboooun r,000ooobocoggo
gogddddddoodooooooooobboboboooobbbbbbbbbon
godgbbodgbbogobogbobuogbbbbooobobuoobbuooboon
O00000000000000000 1jsecj0000000DODOOOOODOOOO
gbbobogbuoggobobooogbbbooooboboooon

47



[Am?]

[Am?]

 [Am?]

1.5 2 2.5 3 [sec]
x 10*

1.5 2 2.5 3 [sec]
x 10*

0 5.32: wO 0000, 7=2500[sec], tq=1[sec], Mr=0.5[Am?, 000000000

gbog,g0booobooboobo

1.5 2 2.5 3 [sec]
x 10*

1.5 2 2.5 3 [sec]
x 10*

0 5.33: w0 0000, 7=2500[sec], tq=>5[sec], Mr=0.5[Am?], 000000000
gooo,uooobobobboooao

43



o 0.5 1 1.5 2 2.5 3 [sec]
Mry x 10

[Am?]

“o 0.5 1 15 2 2.5 3 [sec]
x 10*

_1Am?]

0 0.5 1 1.5 2 2.5 3 [sec]
x 10*

0 5.34: w0 0000, 7=2500[sec], tq=10[sec|, Mr=0.5[Am?], 00000000
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0 5.36: JODOOO0OODOO (solar radiation torque)
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0 5.37:  solar radiation torque, 7=2500[sec], tq=1[sec|/5[sec]/10[sec]
Mr=0.5[Am?], 00 0O
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0 5.38: solar radiation torque, 7=2500[sec], tq=1[sec] , Mr=0.5[Am?|, 0 0 O O
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0 5.39: solar radiation torque, 7=2500[sec], tq=5[sec] , Mr=0.5[Am?], 0 0 0 O
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O 5.40: solar radiation torque, 7=2500][sec], tq=10[sec] , Mr=0.5[Am?], 0 0 O O
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0 5.41: solar radiation torque, 7=2500[sec], tq=5[sec], Mr=0.5[Am?], 0 0 O Td
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0 5.42: solar radiation torque, T7=2500[sec], tq=5[sec], Mr=0.5[Am?], 0 0 O Td
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0 5.46: 7=2500[sec], tq=1[sec]/10[sec]/100[sec] /500][sec]/1000[sec|, Mr=0.5[Am?],
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0 5.52: w0 0000, 7=2500[sec], 100[sec]/500[sec]/1000[sec], Mr=0.5[Am?], O
000 (00), 0000000
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